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- ~EfE T A ehAae 4 B K 4L (Please solve the following initiad value
problem) - (20 %4 )
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Xy +xy —y=16x°, y@B=-1 y@®-=1

= AT A s g I ¥ ## (Please find the corresponding Fourier
transform of the following function) - (20 4 )
f(x)=kx, if a<x<bandOotherwise.
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s apfET s ehant ks (Please solve the following linear system) = (20 4 )
3X—2y+z=13
—2X+y+4z=11
X+4y—-5z=-31
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L= (Please find all Taylor and Laurent series with center zy of the

following functions and determine their associated radius of convergence) °
(20 # )
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